I », ==
IArS-DA:; =
A B
N
Y Y
R1 GERRE 1
R < AT R/
BHCY—F ! /ﬁ? —
oY) ‘ : S ¢
BRAAKS - / = 22653
9 i
o=t 4 I SR Ot G
By —f—1asFT2 &\ T
BANM @ *""‘é"‘,&ﬁ 9 aame 5
il
REEE @ f 7
ExERY A
RS B BHER O e 2 e i
N 7| V> =
o Yo - . alitizitss
HER :
; AEEH |
& - R 7 G |
'j: e j(*l] E IJ\%*X ¢ ﬂ,»’/ EX RER— 7 Ey H
% ] 3 ' my ( mir
=
| / e
NLTFYT *3h
@ BEEO i
HAE il EXTTY (l i
DHE @ ) e e e ]
- -~ @ @ R : \]/fl~ —=
BANKN TS =TI @ PP ). p Al . BAHET O/ beid22 W . wrs
R Kig & oy | b ® / | g £
s wi B l‘ “ A
U S > o RATKHE A " =
0 MAGE _ »
? HARS L = ;L/ L1573 % / A EHAE
X IR ' N
\ . | E3 = =h ok : 5 Nmatt
SGay AENEE | AEETER [ v
#isHiE = i >/ ; T — S
0 -
A ‘ :
= sy wj [ OFHkE Pyt
KEF R g_.‘j O+ o a= e S 922
o= - (EEm B |
X ‘ ==} ¢
.3
b © i g7 el
| A \ i AU
\ K% R < 7 M
14 L\ i ¥
&L T8
o @ 1557
o @ERHEF @ ¥
WEAHE H AT AR Y B m R ERF 5
= OB Emit = EENo. 1 et
n_— (&) 2 JITA RS-0 o
o . M #isR=1: 30,000
Tites M KFF Elijgrg ﬁg




® nE '
»
5 L L)
Bz, 74/ P e &)“
el (P | & e | |
|7 \L® s
=
a5 |2 wm | (P, || | W
o HE
i
7 x/
A\ -1 [
z (10 L 22% ||f e
= ol A
= 5 v,’
= \(54)| | *
8 * 2
i e, s teF || yoox?
= PO i
w % /ZKH z —
k wmE
5] R2TH
! =
flomd | EEE
1
"
\
\
oo \ms) Y
Rnaw )
gﬁuﬂl& )
3% =\ B8 H
% 1 % il s
— (= g % i
3 rgy ued
& % A | s % ! \
E) s V
e || L= \
\
JIRE '
® 1& am| K Ses] \
23 LARVA A
V\AORU 1
\
€ = T )
@ LR\(= o Q"yfémfia '
)| ZpanTEs? '
oedH “
\
\
i
\
- \
= \
ETIE[Hh :
s 1
EL \
\
] 5]
i \
\
| AN
\
JE& |
\
- B 15 -
~ s || e ||| B8 \
\
12 ______________,'
[==2] Y 4
= oo 7,
~ =
AY
EYER 15
m

7=

7wt
6

| |
e
e wE
5. )¢7 PR
12\ | 2%
N Ny
o | M7\ R
oq A7, b/ ? »
r(»'}l\»"?
<
(G Falllg®
sl | ® Wil ||
2 wl\a\= q
i)
ak ||| B L]
wE i
0
o
= S
= =
e ‘.1 | [xw Il
&
f
,
0
&,
_____ s
E i
o
& 2
e o,
W wr | || A®
au18
3 wi |
& || |A%%
P Lo J
it
e
A
; 5 .
g, 24

B

i

saRNo

AR || B
3 wam
|| =3v »E '\‘ %
e »HE" t
AET %
a e = LX)
s ||| s\l AL £ ||| AN\ Coe
2wl LN FURI ic] L\
BB -\ ol ;;}
=4 — 3 - iE
o = 5 0453{;’» 1;7,1; " =% 53\ wE
TN w |\ e# s . B . BN A 4
S
%
\\\4\
| s
2 2" %
21\\% il [ o s P 8
- @
7 5
e Tole| L8 | 3\s
3 PR kel -
[y 3 === ST e £
fl-? A @
v ~ #
& = s
1 e [
£ 5 B s I
= pERER
BLRAE s
1
E— RN o
g ™ R A
S
- T S
s
E A
[Frama P
e
TaenamEREE
) RN ke R
I o .giiﬁ%'?em(
hE
5 =2
2 r LER
=R
. Ll FuE
W
2o [En\|| 25 || =
= ||| * |\l » w L
- 411
% WmE i)
@ || R ||| B9 e/ || (eR
%
A BE x| =
=@ | T2 ol sn | |an nil |\ e
2 ‘
:
1 ’ =]
3 %
#E 3] L
et

e | || FH fiel

Ezmgmﬁ$% : RN ER
R A&t - E—iF T Ehhis

EEE! ﬁﬁiZLﬁiﬂygﬂ

PONE

::L

sl kg

-3 »,
L]

iR

mENo. 2

#a

A

(R¥) ZYITAFS-D JE3BRAET|

BRPEE

#ER=1:1,500




E3 EYMEkEX

Cesen Wezszne P ezpesns [ aws

— praen [ ) xzeuss QO muwin
&
— GG i REEE  a— R —p & 5 AT

BYEE RFE
2[EFmE

HENo. 3TE P E - 28
(6.5Tm  {EI%EL L)

[
i
N

o T =
F" ¢ 4 :
> S 1,35 ni 2.9 of 1.5m
| 1 r SRS 015 il 0.1 of 1.5m
| » 015 [ I.5m
:-- .k | 3.90 i 60l L.5m
4 0.75 m 0.5 m 1. 5m
:g!- - 0.7 ni 0.5 ol I.5m
ﬂl/’ 10,05 ni 6.7 of 15m
b L
e
| S B
% R - \
| | &=
H EE
| 1 l ‘ L
{uf — ] 4 25 H o
g | P 1 S
E A 58 —
HiR I i
Lo 5 2 ‘
b2 E
i i 5 Bl Py
ut ﬁ ] 5 21 ko
H -
7000 5 - ;| e S
1 g ........ —
I L) 8 |
1k Om=24. Oni "
i ) e ‘ |
| H ‘ avE= L
4 7500 —
| S—AVE ‘ %| = . : L —
| < 2
S il b
z[li 4 &
L] 4 /1900 x600) )
H Jlg'é.‘ljp =
B / @K\\; o S é
8000 g
HAOD  ERENo. 1ATiEshEEH - AR (18m) 7
~ ' g
. ‘ A
— [ — B
— | \I | | | |
| W ] |
/ | | L
LL _— | | — |
o #E | #E |
e | ‘l L

[2psFEE]




T3k

46
AR4 @
o |\ [4]
31
BRI - &
///
BREE /‘//7_,
L &5

61

KB AE

wEnm °

"No.3ZEA

27

= E R

*8 =
: B’

No.

2§§}§

=B R

No.2 RXER

4B

Rix

{‘
] KB
]
]
|

sl B s

0. 245[0. 330

0.290] 0.375

C

EE4 akﬂgmﬁﬁﬁggg

6 m %aﬂ
| W FaANTERAY ,
éi#;ﬁ
(/

@

thE
ol [§

/ /

1 -

@

;7L

D

@

=B R

No.1ZZES

FH

Bin

BIS | R

BE#

. [0.266] 0. 288

0. 356/ 0. 367

Rl
o

AEH E— WA




R

B5 BEREFARAGER

D B E

7
b
- B I — “..,_:
ibhe
2AK22—2K18
217 ]
2K16 (<]
- 2K15
o 213 |2
2K12 =
. =
K10 f=a |
S % R | ‘#a
rra——— K9 Tri~r4
2K8 <DJ|
k4 245 246 2K7 |
|_ r“ 8 it K5~ 27
!
|
|
[BLEREFERE]
Fo Bl
@ sEESTAeS
[} EHETRAEO TR A
] & RED TR &
—C— BER EEETD
S EER (RRAEE) L0
=R BER OnEsmAEsH)
Y VK BER GHE0) ¥ .
B =R (¥a—tEs)
—— MR RE
[ ENo.8-2 BERERMER
({R#5) 2V T4 RS-D .
BRhEE FER=T: 500




